202143 191 Y2 ZMH| WYL

A [ A=gx A Y AB A== HgIoH() | FHUA(Y) | ASYH
A 13 894,000 50
1 |o1g 05 ok Aot 22 AR 2 2{ | 52,000 4 e
2 |01€ o6y =0 M ohd S 2bA KF 2 21| 87,000 4 e
3 (o112 SiAE M ohd S 2bA KF 2 2| 36,000 4 e
4 |0o1g 15¢ SiAE TR BEA R ZHE S| 36,000 3| It
5 |[01€ 16 CESRSl= =y Aot 22 AR 2 2{ Ay| 48,000 4 e
6 [01¥ 20y Maag Aot 22 AR 2 2{ Ay| 44,000 4 e
7 |01€ 20 OtAL TR BEA R ZHE S| 60,000 3| It
8 |01 21 FE==Y M ohd S 2bA KF 2 2| 14,000 2| 32t
9 |o01¥ 26y 000 HF AR =2l F 50,000 1 83
10 [01¥ 26¢ SiAE M ohd S 2bA KF 2 21| 36,000 4 e
11 |01 27 otAtE TR HAX G2 75,000 3| It
12 |01€ 30 FtHot2 = OlAM ME 300,000 10 32HE
13 |01€ 30 olets M ohd S 2 A KF 2 2| 56,000 4 e




